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No. of Questions : 120

Time : 2 Hours ] [ Full Marks : 360

Note: (1) Attempt as many questions as you can. Fach question carries 3 (Three)
marks, One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

(2) If more than one alternative answers seem fo be approximate to the correct
- answer, choose the closest orne.

1. Consider the following C program :
main() X
|
int numi, num2, numa3;
scanf ("%2d %5d", &numl, &num?);
scanf ("%2d", &numa3);
printf("%d%d%d", num1, num2, num3);
}
If the data input to the program 31426, 50, and 100 then the output will be :
(1) 31426,50,100 (2)-50,31426,100 (3) 314,2650,100 (4) 31, 426,50

2. Consider the following C program :
main()
E
intp,q,r;
scanf ("/3d%4d%3d", &p, &q,&r);
printf("%d%d%d", p, q, r);
l
if the data input to the program 123456789, then the output will be :
(1) 123,456,789 (2) 123,45,678  (3) 123,4567, 89 (4) 12,3456, 789

L 1) . P.T.O.
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17P/301/23(Set-1)

3. Minimum size of character array required (o store word "WELLDONE" is :
(h 1 (2) 9 (3) 8 (¢) 10

4. Consider the following C program :

main()

float me = 1.1;
double you = 1.1;
if(me = =you)
printf("T love U");
else ‘
printf("] hate U");
}

The output of the program will be :
(1) lloveU (2) ThateU

(3 ILOVEU (4) IHATE U

5. Constder the following C program :
main()
I
static int var = 5;
printf("%d " var--);
if(var)
main();
i
The output of the program will be :
(1) 12345 . (2) 23451

(3) 54321 (4) 32145
(2)
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6. Consider the following C program :
main()
l
int ¢[ ]=(2.8,3.4,4,6.7,5};
intj, *p=¢, *q=c;
for(j=0;j<5;++) {
printf(" %‘d B o
++q; |
for(j=0;<5;++)|
printf(” %d *,*p);
++p; |
f
The output of the program will be :
(1) 2222223465 () 2222233465
(3) 2222234465 (4) 2222223456

7. Consider the following C program :
main()
!
it i=-1,j=-1, k=0, 1=2, m;
m=1++&&j++&&k++ | | 1++;
printf("%d %d %d %d %d"ijk,},m);
)

The output of the program will be :

(1) 00113 (2) 00111

(3) 00131 (4) 00133
(3)

17P/301/23(Set-1)
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17P/301/23(Set-1)

8. Consider the following C program :

main{)

char *p;

pﬁntf{“%d Yod " sizeof(*p).sizecf(p));

|

The output of the program will be :

(1) 21 ) 41 (3) 81 4) 12

8. Consider the following C program :
maing) |
f
inti=3;
switch(i)
{

default:printf("zero™);
case 1: printf(“one");

break;

case 2:printf("two");
break:

case 3: printf("three”);

break;

!
!

The output of the program will be :

(1) three (2) two

(3) one 1) zero

(4)
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10.

11.

12.

Consider the following C program :

main()

inte=--2;
printf("e=%d",c);
l

The output of the program will be :

(1) -2 (2) 2

Consider the following C program :

#define int char
main()

i

int i=65;
printf("sizeof(i)=%d" ,.vs_izeof(i)):
)

The output of the program will be :

(1) sizeof(i) =1
(3) sizeof=1

Consider the following C program :

mainy)

I

int i=10;

i=h> 14;

printf ("i=%d",i);
|

The output of the program will be :
(1) 14 @ 1w

(5)

®c

(2) sizeof(1)

4) 1

(3) 1

17P/301/23(Set-1)

(4) 0

4) 0

1.0
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13,

14,

15.

 Consider the following C program

main()

'.

printf{ "\nab");
printf("\bsi") ;
printf("\rha");

|
The output of the program will be :
{1) abs (2) abh (3) hai

Consider the following C program :

main()

|

int i=5;
printf("%d%d%d%d%d%d " i++1--, 4 +1,-1,1);

1

The output of the program will be :

(1) 45545 (2) 54545
(3) 45455 (4) 55454

Consider the FL1|1:1wing i program :

#include <stdio.h>
#define a 10

main()

|

#define a 30
printf(*%d", a);

l
The output of the program will be :

(6)

(4) iah

(4) 210

[ ]
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16.

17.

18.

17P/301/23(Set-1)

Consider the following C program :

main)

{

int i=400,j=300;

printf(*%a .. %d");

} :

The output of the program will be :

(1) 400.300 (2) 400300
(3) 4003 | (4) 400..

Consider the following C program :

main()

I

inti;

Fﬁntf'("%d",scanf("ﬂfnd",&i));

If value 104s given as input, then output will be :

(1) 0 (2) 10 (3) 1 (4) 2

Consider the following C program :
main(}

{

mnt 1=-1;

+;

printf("i = %d, + = %d \n"i,+i);

l

The output of the program will be ;

(1) i=-1+i=-1 2) i=1,+i=-1
(3) i=-1+i=1 N (4) i=-1,+4i=1

{7)

P.T.0.
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19.

20.

21,

Consider the following C program :
main()

{

char *strl ="abed"”;

char str2l J="abed";

printf("%d %d %d" sizeof(str1),sizeof (étﬁ),sisz("abcd”));

]
The output of the program will be :

(1) 455 (2) 255 3) 244

Consider the following C program :

main() |

‘i

char not;

not=12: ,

printf{” %d" ,not);

!

1he output of the program will be :

M1 (2) 2 (3} -2

Consider the following C program
#define FALSE -1
#define TRUE 1
#tdefine NULIL. O
main()

{

if(NULL)
puts("NULL");
else if(FALSE)
puts("TRUE");
else
puts("FALSE"),;

‘ s
The output of the program will be :

(1) FALSE (2) NULL @1

(8)

(4 254

(4) 0

(4) TRUE

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17P/301/23(Set-1)

22, Consider the following C program :
main()
{
int k=1;
printf("%d= =1 is" "%s", k, k= =1 "TRUE""FALSE");
}
The output of the program will be ;

(1) 1=1is TRUE (2) 1=1is FALSE
(3) 1==1is TRUE 4) 1==1
23. Consider the following C program :
main{)
I
int y;

scanf("%d", &y); -

if( (y%4= =0 && y%100 1= 0) || y%100==0)

printf("%d is a leap year");

else

printf("%d is not a leap year");

}

If input given is 2000, then the output of the program will be :
(1) 2000 is not leap year (2) 2000 is a leap year
(3) Error (4) 2000

24, Consider the following C program :
main()
I
int *j;
{
int i=10;
j=&i;
!
printf("%d", %);
)
The output of the program wili be :

(1) 2 (2) 4 (3) Addressofj. (4) 10

(9) P.TO.
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25. Consider the following C program :

27.

#include<stdio.h>
main()

i

register i=5;

char j[]= "hello";
printf("%s %d” j,i);
|

The output of the program will be :

(1} helio 1 (2) hello?2

Consider the foliowing C program :

main()

{

it 1=5,j=6,2;
printf("%d"”,i+++j);

The output of the program will be :

(1) 12 ) 11

Consider the following C program :

void main()

f

int i;

for(i=1; i<4,i++)

switch(i)

case 1: printf("%d" i);break;
[

case 2:printf("%d",i);break;
case 3 :printf("%d" 1); break;
i

switch(i) case 4:printf("%d",i);

l

The output of the program will be :

(1) 1,234 2) 12345

(10)

(3) hello 5

(3) 5+6

(3) 0,1,2,3

(4) hello hello

(4) 6

4) 1,235

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



28.

30.

Consider the following C program :

main()

{

inti= _1_abce(10);
print{("%d \n",~i);
}

int _1_abc(int i)

{

return(i++);

!

The output of the program will be :

(1) 10 (2} 11

Consider the following C program :

main()

{

int i=0;j=0;

if(i &c& j4+)
printf("%d..%d",i++, j);
printf("%d..%d"i,j);

}

The output of the program will be :

(1) 0.0 (2) 0.1

Consider the following C program :

main()

{

int i=0;
while(+({+i-)!=0)
-=i++;
printf("%d" i);

}

The output of the program will be :

(1) © (2) -1

(11)

(3) 9

(3) O++1

(3 1

17P/301/23(Set-1)

4) 0

(4) 0+1

(4) 2

P.T.0.
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31.

32.

33.

34.

35.

36.

37.

38.

The NAND gate output will be low if the two inputs are :
(1) 00 {2) 01 (3) 10 (4) 11

The simplification of the Boolean expression A e A is:
(1) 0 (2) 1 (3) A - 4 A

The number of control lines for a 8 - to - 1 multiplexer is :

(1) 2 @) 3 (3) 4 (4) 3
Which Boolean expression is for Ex-OR :

(1) AB+AB (2) AB+ AB

(3) A+B 1) AB
Which is true for D-flip flop

(1) Output is complement of input.

(2) Output does not depend on input,

(2) Outputs depend on past inpul and ciock.

(4) Outpul is same as inpul.

Data can be changed from special code to temporal code by using :

(1) Counters (2) Combinational circunts
(3) Shift registers {4) A/D converters.
A device which converts BCD to Seven Segment is called :

(1) Encoder (2) Decoder

(3} Multiplexer (4) Demultiplexer

Program counter is :
(1} Regisier in MICroprocessor
(2) Memory location in RAM
(3) Memory location in ROM
(4) Location in disc
(12)

-
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39.

41.

42,

43,

17P/301/23(Set-1)

Words having 8-bils are to be stored, into computer memory. The number of
lines required for writing into memory are :

(1) 1 (2) 2 (3) 4 (4) 8
Karnaugh Map (K-niap) is used to determine the :

(1) Maximal Boolean expressioﬁ.

{2) Standard sum of product form of the Boolean expression.

{3) Minimal Boolean expressidrn.

(4) Standard product of sum form of the Boolean expression.

The locus of point of intersection of three mutually perpendicular tangent
‘planes to a hyperboloid is :

(1) a'apl{ere (2) acircle

(3) aplane (4) a straight line

The domain of a real valued function f(x)=v7x-x2 -10 is :

(1) R 2) (0, =) 3) (2,5) (4) [2,5]
The equation to a plane in intercept form is :

(1) §+%+§=1 2) Ix+my+nz=p

(3) xcosa+ycosB+zcosy=p (4) ax%by+cz+d=0

The function f: R — R defined by fix) = x + [x], where [x] is greatest integer
function, then fis : e &

(1) Continuous everywhere but not differentiable at x = 0,
(2) Differentiable everywhere but not continuous at x = 0.
(3) Continuous and differentiable everywhere.

(4) Neither continuous nor differentiable.

The angie between the lings y =x, z=0and x4+ y +2=0,z= 0 is -
(1) 90° (2) 30° (3) 60° ) 0

=iy &

13 o a——
(13) PTO.
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46.

47,

48.

49.

50.

51,

52.

53.

The centre of the sphere which passes through points (4,0,0}, (0,6,0), (0,0,8) and

(0.0,0)1s:

(1 (o (2) (0,3,4)

(3) (46,8 (4) -(2,3,4)

The maximum value of the function f{x) = x? + 3x + 2 on the interval [-2,2] is :
(1) 12 2) 0 (3) -1/4 {(4) 15
HAx)=smx+cosy, 0<x<m, the value x al which f has a maximum 1s :

3n

x n

= ) 3) — 4) —

W 3 @ ® 3 @

The rank of the linear transformation Tz R* — R given by T{x, i) = (-1, X} s
(1) 0 (2) 1

(3) 2 (4) Cannot deternine

: T .
The radius of curvature of a curve ¥ = 5 cos £, y = 5 sin t at the pomi 7 = 4 H

given by :
1
: % o
(1) 5 (2) 1 (3) 0 @) <
The remainder, when 2016! + 1 is divided by 2017 is :
(1) 2016 | (2) 0
(3 1 (4) Cannor determine
The value of J"'if ; Y27 cos x dr is
(1) 2017 2) n (3) 0 (4) =/2
If Cis a unit circle centered al origin thea the value of '[‘:-2:2- dz is:
(1) 0 | 2) 2nmi
: 4) Cannot determine
() 27 i e ‘
(14)

-

—
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54. The angle between any two diagonals of a cube 15 :

W'l et @2 @, 2
55. If [x] denotes greatest intcger function, then the value of [-n"] is :

(1) -6 (3 -7 (3) ~10 (4) -
56. The locus of complex number, 2, satisfying |z ~i]| +{z+i} =2is:

(1) Line segment (2} Circle

(3) Ellipse (4) Straight Line

57. A root of ¥° ~8x7 + px + g = ( where p and @ are real numbers is 4 + iv/5. Then
the value of g is :

()0 2 1 (3) p (4) 8

98. The number of trivial subgroup of a cyclic group of order 8 is .
(1 o (2) 6 (3) 2 (4) 3

99. i flx) =sindx, 0<x<n/2, the value x at which tangent is parallel to x-ax:s :
(i} =»/8 (2} n/4 3} n/3 {4} n/6

60. The polar equation r = g sin @ represents ;

(1) Straight line {2) ;Circle
{3) Parabola (4) Point
61. The 1nﬁrule‘iﬁ'in~i?+ A -+ 87
i
(1) Convergent (2) Divergen
(3) Oscillato
Y (4) Cannot determine

62. The value of integral J"‘" & sec™"’ x
: 0 3017

sec?¥7 y g mcm:’;dx is equal to :

. K
(1) 2 20 - (3) 1 3
(4) s

(15)

-

r1.0
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63. The Laplace transform of ;:-(1 + cos 2t) is ;

s oL |
(1 -5|r—.£-+1] (2) 1[ il
Ls" 44 8 2{s*+4 6]
wi I 11
2ist+q 5| 0 2[¢2+4 $;

64. The wvalue of the «constant &« for which the vector

s (2xy + 3;;2}? e{x? & Jxy - -tzl)f —(Sxy-ayz}ﬁ 1§ Irrotational ¢
1 5 ) 6 (3) 7 (4) 8

B5. The shortest distance between the lines pic=22 and

2 3 4
x-2 y~4

-

, £
3 4 5 '

(1) 176 @ s (3) /43 (4) 1/3

66. The parametric equations x = 4 + %, y = 2t + 3 represent :
{1) a parabola with focus at {4,3)
{2) a parabola with vertex at (4,3)
(3) an ellipse with centre at {4,3)
4) a hyperbola with focus at (4,3)

67. The Sup and inf of the,set{m+%;m,n eN 1; are respectively =

(1) 1,0 (2) does not exist, 0
(3) dl:es nat exist, 1 (4) does not exist, does not exist

68. 1iSisa non empty subsel of R, which i}s bounded above, then the set of upper
bounds of S has
(1) a least element
(2) a greatest element
(3) both greatest and least element
(4) neither least noT greatest element

gcollegeduniaa
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69.

70.

7.

72.

73.

74,

17P/301/23(Set-1)
The superior limit of {(-1)") is given by :
{1) -1 (2) -2 (3) O (4) 1
If F(n) = %[(n +1{n+ 2)(n + 3)......(2n))'" then lim,,_,_ F(n) js equal to :

1) €’ (2) 2¢7 (3) 3¢7 (4) 4e!

The alternating group A, on 4 symbols has a normal subgroup of order :

(1) 2 2 3 (3) 4 (4) 6
Capiact , ; , - Pu
neral solution of differential equation —-+ =0 is of the form:
o'yt
(1) u=fx + iy) + glx - iy) (2) u=fix-iy)+ glx +iy)
(3) u=flx+iy)-g(x-iy) (4) u=fix—iy)—glx-iy)

Which is true about the function f(x)= { i w;‘en i o ‘:“‘:ﬂ] ,
—X, when Xx1s ration

(1) no where continuous,
(2) everywhere continuous.
(3) continuous exactly at one point.

(4) continuous everywhere except one point.

- - 2
General solution of differential equation : ':",' +4y=sec’2x is:
. x- :

(1) ¥y=0c,c082x + ¢, 8in 2x ~ — 41 g '
) ¥=¢ * €8N 2~ —+- sin 2x log{sec 2x + tan 2x)

¥ . .
(2} ¥=c, cos 2x - ¢, sin 2x + i 2x log(sec 2x + tan 2x)

(3) ¥=1(c, + cx) & + % log{sec 2x + tan 2x)

(4) y=c,c0521+czsin2r+—i-—i- sin 2x

(17) PTO.
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75.  If a lies inside the closed contour C, then _[ ; = T #z is:
“(z-a)

;i

(1) #(1+ a) (2) 148

/

—

3) ¢ @ o=

\ 2

76. Which of the following is nof an integrating factor of xdy — ydx =07
L 1

1) —= (2)
X T+
B — @ =
xy Y

77. Complete integral for the partial differential equation (PDE) z = px + q¥ - sin pq

18
(1) z=ax+qy-sinag (2) z=ax+by-sinab
(3) z=ax-by +sinab (4) z = bx +ay +sinab

78. Which one of the following is ot a linear transformation :
(1) Tlxy, x5} = (x4, X,)

(2) T(x), x3) = (x), X))
(3) T(x, x.)={(x, + %, +2,x, +%,—-2)

(&) T(x;, X5} = (2%, + 3%, 3%; + 5x,)

78. The direclional derivative of 1 (where 7 =21 + yj - zk) in the direction of r is:

v
1 B 1
(1) (xz#u2+zz)”! (2) 4y RPN
| : 9~
() (xr+y* +27) : (X +y° +2°)

80. For what value of @ the vector af{x - y)i +4yj + 3k is solenoidal :

(1) 0 (2 4 (@) -2 %

(18)
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81.

83.

a7.

17P/301/23(Set-1)

[f the probability of a male child birth is %, the probability that in a family of
four children there will be at least two males is :

- (1) 5/16 {2) 6/16 ' (3) 11/16 (4} 12/16
The probability density function of a random variable X is
fx) =2x, if D<x<1
=0, otherwise.
The cumulative distribution function F(y) of Y = ¥X will be :
M ¥ @) 4y’ @) 2o/ (4) 4

HPX>s+t [ X>s)=P(X>t), and X is non-negative integer valued random
variable, then X follows :

(1) Geometric distribution. (2) Hyper geometric distribution.
(3) Exponential distribution, (4) Poisson distribution.

The probability mass function of a random variable X is f (x) =k a%;0<a <1, x
=1,%,3,....0and k is constant. The value of k and mean of X are respectively :

(1) (1-a)" and (1-a) a™ 2) t1-a)’ and (1-a)™*

(3) (1-a)a™' and (1-a)™! (4) (1-a)a~ and ( 1-a)a™

If X is a Poisson variable with parameter m , then P(X =2} is equal to -
m "

(1) [xe™dx (2) [x%e*dx
0 0

(3) ri[.1' *dx (4) none of these

If the random variable X assumes only two values 0 and ! with P(X=0) = 3
P(X=1), the variance of X will be :

(1) 1/4 ) 3/4 (3) 1/16 (4) 3/16

Ibfe X is standard normal variable and P (| X | < 1)z 6826, then the P(X > ~1) wil]

(1) .3174 (2) 8174 (3) 3413 (4) 8413
(19)
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88.

90.

91.

I'he random variables X and Y have joinl probability density function as
(x,v) = x exp{-x{1+y)]; ifx>0,y>0

=[) : otherwise

Then the regression equation for Y on X will be

S, : linear

S, 1 passing through origin

Select the correct answer from the tollowing codes :

(1} BothS,and S, are true

(2) S, is true but S, is false

(3) S, is false but S, is true

(4) BothS;and S, are false

If 4 is the difference between the ranks of ith (i = 1, 2, v n) individual

"

- I

awarded by two examiners, the maximum value of Y d’ willbe:
r-0

(1) n(n+ )2+ 1)/6 (2) n{in-1)n+1)/6

(3) nin+ 1)(2n+1)/3 (4) n{n-1(n+1)/3

The standard deviation of a leptokurtic distribution is 5. Then the fourth central
moment for the distribution is :

(1) greater than 1875

(2) equal to 1875

(3) less than 1875 but greater than 225

(4) less than 225

A random sample of size 3 is drawn f[rom a ﬁupululian consisting of 10 units
usIng, SRSWOR method. The probability that fifth unit will be selected in the

sample is
(1) 1/10 _ (#2410

(3) 1/120 (4) 1/1000
(20)
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92. From the histogram of a frequency distribution, we can calculate the value of :
(1) Arithmetic mean (2) - Geometric méan

(3) Median + (4) Mode

83. The most appropriate diagram to represent the Five year ﬁlan outlay of our
state indifferent economic sector is : : | |
(1) Divided bar (2) Percentage bar
(3) Pie (4) Column

84. Mr. X wants to purchase a car but he is confused to choose the one. The
probabilities that he will go for the category B or category C cars are
respectively 0.54 and 0.46. If he selects category B cars, he will buy either Palio
or Indica with respective probabilities 0.48 and 0.52. On the other hand if he
goes for categary C, the prababilities of buying Accent is 0.59 and that of lkon is

0.41. In the light of the above information, which car do you think Mr. X is most
likely to purchase ?

(1) Palio (2} Indica :
(3) Accent @ ken
95. In tossing of a coin four times, the events E,Lanii are mutizauf exclustve 1 :
(1) E,:Getting at least two heads {ir_t;:_i E, : Getting at most two tails.
(2) E;:Getling at least two heads and E, : Gettmg at leaat two tails,
(3) E;:Getting at least three heads and E; : Getting at most three tails, |
(4) E; :Getting atleast three Neads ang E, : Getting at least three tails,

21 )
( ; ) P*T* 0
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97.

a8.

An unbiased coin is tossed until a head is obtained or the total number of tosses
is 7. It is desired to calculate probability of the event E that coin is tossed at least

three times. [n this context read the following carefully :

(i) The total number of mutually exclusive and equally likely outcomes is 8.
(i) The number of favourable outcomes to event E is 3.

(iii) Probability of E is 3/8.

Choose the correct answer {rom the following :

(1) (i) is true but (ii) and (iii) are false.

(2) (i)is false but (ii) and (iii) are true.

(3) All are wrue.

{4) All are false.

In a university 60% siudents are male and 50% of the male students and 30% of

the female students are smokers. If a student 1s seen Rm{iking, the prnhablht}‘

that it is a female student is ;-
(1) Equalto0.3 (2) Lessthan03
(3) Between 0.3 and 0.4 (4) More than 0.3

There are three bags, each containing 12 white and 8 bkack.balls. One ball is
drawn from the first bag and placed in the second bag. Then a ball is drawn
from the second bag and placed in the third bag. Finally a ball is drawn from
the third bag. The probability that the ball drawn is white 1::

(1) 12/20 (2) 13/20 (3) 12/21 (4) 13/21

(22)
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Two friends Mr. X and Mr. Y decide to meet at the gate of a hotel to have the
dinner together between 8:30 p.m. and 9:30 p.m. They further decide to wait no
more than 15 minutes from the time of their arrival or the mﬂ of the meeting
hour. They reach hotel independently during n{eeting hours. Define A: They
meet, B: X arrives before Y and C : X arrives after Y. Consider the following
Statements in this context.

S, : The conditional events B| A and C| A are equally likely.
5, : The conditional events A |Band A | C are equally likely.
Choose the correct answer from the following :

(1) Both S, and 5, are true

(2) S, is true but S, is false

{3) S, is false but S, is true

(4} Both S, and S, are false

Consider the events A and B such that P (A)=%,P(B|A)=%and P(A|B) = 4.
The random variables X and Y are defiried as

X{w)=1, ifweA
= [, otherwise
and

Yw)=1,ifweB

= (), otherwise
Which of the following s true ?
(1) P(X=0nY=0)=5/8 2 PX=07Y=1) = 1/8
(3) PX=1nY=0)=3/8 4) PX=tay=1)=1/8

(28) = .
P.T.0.
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101.

102.

103.

Two discrete random variables X and Y have P{(X=1 nY=1) =2/9, P(X=1 n Y=2)

= P(X=2 n Y=1) = 1/9 and P{X=2 n Y=2) = 5/9. Read the following statements
carefully :

S,: X and Y are independently distributed.
S.:Xand Y are identically distributed.
Choose the correct answer from the following
(1) Both'S, and S, are brue
(2) S, istrue but$, is false
(3) S, is false but S, is true
(4) BothS, and S, aQe false
Read the following statements carefully :
§, : Poisson distrihutiun is limiting case of Binomial distribution.
S, : Poisson distribution is limiting case of Negative Binomial distribution.
S, : Geometric distribution is special case of Negative Binomial distribution.
Choose the correct answer from thc; following :
(1) S, and_Szlare true bul S, is faise
(2) S,and S, are true but S, is false
(3} S, and S, are true but S, is false

(4) 8, and S, and S, all are true

The chance that a doctor D will diagnose a disease X correctly is 60%. The
chance that a patient will die by the treatment of the doctor D, even ?flgr cu:rect
diagnosis of X 13 40% and the chance of _death afte:: wrong, diagnosis 15;0 ;:l;a.
patient of doctor D who had disease X died after his treatment. The probability
that his disease was correctly diagnosed by the doctor is :

(1) 7/13 . ~ . {2) 6/13
(3) 6/25 | (4) 8/25

(24)
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1!}4. If X,, X, and X, are three independent Poisson variables with parameters X,, &,
and 2, respectively, the conditional distribution of X,, X, and X, given that
X, + )(2 + X3 = n(fixed number) is :

(1) Poisson (2) Binomial
(3) Hyper geometric (4) Multinomial
105. The distribution function of any random variable is
S, : always right continuous.

S, : discontinuous at countable number of points only if the random
variable is discrete.

S; : monotone non-increasing.
Choose the correct answer from the following :
(1) S, and S, are true but S, is false
(2) S,and S, are true but S, is false
(3) S, and S, are true bul 5, is false
(4) S,and S, and S, all are true

106.  t-distribution with one degree of freedom is a
(1) Gamma distribution (2) Beta distribution
(3) Normal Distribution (4) Cauchy Distribution

107. If X has a f-distribution with (N, n,) degrees of freedom, the lirniting
distribution of Y = C/X will be a chi-square distribution if ;

() C=n;andn, > (2) C=n,andn, »

(3) C=mandn, » 4) C=mandn, -+ w
108. The power of a test is the probability of ;

(1) Rejecting H, when H; is true

(2) Rejecting H, when H, is true

(3) Rejecting H, when H, is true

(4) Rejecting H, when H, is true

(25)
: vT0.
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109. Which of the following statements are ALWAYS true ?
S;: Sum of incependent Binomial variable is Binomial variable.

-

(]

: Sum of independent Poisson variable is Poisson variable,
S, : Sum of independent Normal variable is Normal variable.

Choose the correct answer from the following :

{1) §,and S, are true but 5, 1s talse

(2) S,and S, are true but 5, is false

(3) S, and Sy are true but 5, is false

(4) S,and S; and S, all are true

110. [f X and Y are independent random variables and each is uniformly distributed
over (0,1), then P (| X -Y|<0.5)1is:
(1) 0.25 (2) 0.50
(3) 0.75 (4) None of these

111, The equation of pair of regression lines for a given data is reported as
4X +5Y +33=0and 20X - 9Y - 107 = 0.

Statement (S): We cannot calculate the correlation coefficient between
Xand Y.

Reason(R) It is not specified which one is regression of X on Y and
which oneis Y on X. -

(1) Sis true and R is its correct explanation.
(2) Sistrue but R is notats correct explanation.
(3) Sis false but R is true.
{4) BothSand R are false.
112. Select the pair of value which cannot be possible value of coefficient of
ckewness and kurtosis respectively.
(1) (1.22.1) (2) (07,7.9)
(3) (355.3) (4) (2.6,6.2)

(26)
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113.  If the classes are not of equal width in a grouped frequency distribution
Slatement(S): We cannot represent it by frequency polygon.
Reason(R) : Histogram cannot be Iraced for such data.
(1) Sistrue and R is its correct explanation. -
(2) Sis true but R is not its correct explanation.
(3) Sis false but R is true,
(4) Both S and R are false.

114.  In a statistical table the titles given to the rows are called :
(1) Subtitle (2) Stub
(3} Caption {4) Body
115.  For moderately skewed distributions, it is empirically observed that
(1) Median = 3 Mean — 2 Mode
(2) Median = 3 Mode - 2 Mean
(3) Mode = 3 Median — 2 Mean
(4) Mode = 3 Mean - 2 Median

118. There are (n + 1) observations in .a series. If X, is the mean of first n
observations and ¥, is the mean of last n observations, then :

(1) %, =X +x,, - Xy
) X=X -x,,,+x,
(B) % =%, +(x,,,~x,)/n
(4) %, =7, ~(Xpi1 —X)/n

1_1?. The mean weight of 150 students in a class is 60 Kgs. The mean weight of boys
1s 70 Kgs. and that of girls is 55-Kgs. The number of boys and girls in the class

Aare respectively
.{1) 50,100 (2) 75,75
(3) 80,70 (4) 100,50

(27 ) PTO
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118. Read the following statements carefully :
S, : The mean deviation is least when measured from arithmetic mean.
S, . Slandard deviation is least when measured from geometric mean.

Cheose the correct answer from the following :

(1) BothS, and 5, are true.

(2) §, is true but S, is false.

(3} S, is false but S, is true.

(4) Both§, and S, are [alse.

119. A and B are two events with A < Band P (B) < 1. If p, = P(A" U BY), p, = P(A" " BY)

and p, = P{A"| B%) then

(1) PLEP2<P; (2) pIEpssPe

(3) P2sp, =ps 4) PP

120. A fair die is thrown twice. The probability that either at most 2 on the first
throw or al least 5 on the second thraw is obtained is :

(1) 4/9 (2) 5/9
(3) 6/9 4 7/9

(28)
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